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LR AR e 2 T opR- AR F e 2 F 815~ 3 eng 8 2(A)E R B)pH (C)i 5 kR (D)4t %2t

2. e ereege(NHL) 22 75 e B (pyruvate)) & 7 578 - ek pE o 5B R 05Tk 3 ORG-S B (A) IRt
(glutamate) (B)4#% *<fie*=(glutamine) (C)* 5 "<p&(phenylalanine) (D) #=f« (alanine)

3. B vkt ik (Allopurinol) & - i i b ch e > v L JEd 1ETT S0 Bk F kAl § K pk(uric acid)shA 4 ?
(A)B;ju,:!;vé 3 »if# (adenosine deaminase) (B) 5 £ &+ 2 "xfis(guanine deaminase) (C)+ & r4 2 "=fs(xanthine deaminase)
(D) *&+4 § i fis(xanthine oxidase)

4. jFf 5 T4 ”’T‘% (Epinephrine)”&_iw4 p T 7|78~ i =L 52 ? (A)H# "=pk(arginine) (B) f5xpk (histidine) (C) ¢ "=p& (tryptophan)
(D) p& »=pk (tyrosine)

5. #-¥ilk % A(Antimycin A) £ :—aigﬁﬁyfﬁg B ENADHZ O, A2z 2 > T AP0 - B 3 F ¢ ERBRKE?
(A)wrzd 2 a (B)w#¢ %2 a3 (C)w?2d 2 b (D)wm?2d % C

6. TAw ﬁ T B i pEsg? (A)& % (Cellulose) (B)zk fk ik (Hyaluronate) (C)# ~ # (Chitin) (D) #> (Starch)

7. TR RE ARG E S ?(A)T ’LTL'? (Epinephrine) (B)*: & % (Insulin) (C)= #& % (Glucagon)
(D)2 ¥ % (Biotin)

8. R Fv P 7z dpveps(lysine) 2 ot vepi(proline)ie (74 § L IT* B Z R THmfAAS g Q(A)ad 2 AB)a2 £ B

(C)a4 2 C (D)4 %D

R AR Z o iR LS E T SRR 4 rA) A (A)RAR R AP 4 42 (B)4ER & 4 (C)ap &4t
(D) IENa

10.4 - 4 i+ & },%ZEQ%]% WED TG R o Rt A R g d AR5 ?2(A)AG>0 (B)AG=0 (C)AG<O
(D)2 + ¢ 2t

RT3 MEMEr cnplid e ¥ 2 BAE 2 (A)B (7% P % f2d 445 (B)¥ 4,4 &R i 7 NADH & FADH,
Cpiie*r I -fafar e D)EFRZFF R

125F g p" AP 5 e ¢ LT R faed %47k ? (A)2 & (Biotin) (B)# k& p4(Niacin) (C)+ 3 # (Riboflavin)
(D)#x 3% (Thiamine)

137 770 — fa il pe ¥ IR ey T2 BB 9 2 (A)G/S (B)G/IP (C)L/IP (D)L/R (P=Api ¥ - F* 5 R)

1430 &F §RBET > AW LIAIFMET A2 50 ATP?2(A)LL5 (B)125 (C)135 (D) 145

15,7 5] 3 M A BpR L2 Kt e 7 2/ ? (A)2 A Qg w73 HATP (B)2 A4 & +#7F HNADPH
C)2 AR P HPATF hPidE (D) N WEER B LA e iwmie [T 17 2 RHE T

16.7 7] i= ﬁ Hmie ) g (L 4 ;‘r,)%“éf ﬁ? (A) & % (Oxytocin) (B)x & 4c /& % (Vasopressin) (C)*ar-*<(Enkephalin)
(D) #x % 4 »<(Glutathione)

174 vzt e pKy=2.17 » pK2=9.04 » pKr=12.48 31 # s=pt cn% 2 8(pl) & @2 (A)5.60 (B)7.33 (C)7.90 (D)10.76

18.7 7|78~ F-d B3t ofHk 39 ? (A)" & 39 (Collagen) (B)*~i= % (Myoglobin) (C) & & 3¢ (Fibrion) (D) % 3¢ (Keratin)

19.55 R mPe & % T A|7R- ERAFIT L e ) g ek W2 (A)REER B)erp R (C)frped (D)t w2t

20. T F7R- fE F sk AR DR RNA &~ 3 poa 2E DNA &~ 372 (A)Erjzc;%vé (adenine) (B) & % v&+4 (guanine) (C) ke (uracil)
(D)* potpe(thymine)

21T S 7R - FEER| T B -9 BN e EEE? (A)kE (Urea) (B)AR & ¢ fig(2-Mercaptoethanol) (C)-+ = = A & ik 4 (Sodium
dodecyl sulfate) (D) ‘% &_

22,3 K T 7l e At = % (Hemoglobin) shif 7 (A) s 2 7 (Heme) (B)4R % 7 (rhodopsin) (C) & ¥ " (protoporphyrin) (D) 14 + % 2

©



23334 & g & T 5)7%- M EF 2 (AINAD®  (B)NADP® (C)FAD™ (D)2 b % 2

<HHEEEE >

FR A & pep i ps AT p TR el R 7(A)RLE Bl (B)a2 % B, (C)2 % Bs (D)2 % Bs
%}m?m*ﬂ#%aﬁTwmﬁwz M- b @) aaE (O i O) s
2614l LIS T 7 A 4 % 00 (AVRIAE (B)REEAE (C)R 4 (D)L R A
27. % 7 F g i #¥(Lesch-Nyhan syndrome) & & £ %] 5 7 7| o f& (* B A2 ¢ hf¥ % 7 4 109 TR? (A)&+: & = (purine anabolism)
(B)#ez_& = (pyrimidine anabolism) (C)#& 4 w 4z (purine salvage) (D) ¥ 1:c(pyr|m|d|ne salvage)
8N TA- B2 ¥ BEPHMBT 2R 5-AGACTGGTC-3' «7nDNA » F+ 75 £? (A)5-CTCATTGAG-3'
(B) 5'-GACCAGTCT-3' (C) 5'-GAGTCAACT-3' (D)5-TCTGACCAG-3'
20.% FE A& X DA A A T pE o R ooR 4 F R EROASTE (AT B)r® (O 2 (D)t pt
0.5 AE & AJgd " KT 778 Bl iad pled F g Fenp a? (A)p d i (B)g i (C)Fita (D)1t 92t
6 bl g

1. 2. 3. 4. S. 6. 7. 8. 9. 10.
11. 12. 13. 14. 15. 16. 17. 18. 19. 20.
21. 22. 23. 24. 25. 26. 217. 28. 29. 30.

= fREREH 0% BES5 D)

1. 5“4 7% @tz (Lactose intolerance)

2. A #i8 ﬁ%](Active transport)

3. F'pas¥ p%(Lactate fermentation)

4. % FrEpL i (Substrate-level phosphorylation)

- FZRE (20% > =RE 10 &)

L3R B 2 2 MR EIE R T S A R R0

2. AR B RIS i £ RIAR TS B R
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1 2 3 4 5 6 7 8 9 10

11 12 13 14 15 16 17 18 19 20
1.

TSt e 4538 7 (A)DNA A4 3§ 1T 3 ph(deoxyribonucleotide) 2% (B)DNA & %}z + (C)DNA = {8
S F#AA-U-G-C) (D)DNA ALK o T (7

T ¥ Fl(gene) At P H 45357 (A)A FIF B & @ IT* (translation) 2 2 F-v T (protein) (B)#1 4] £ 4~ e @
O)F 7 & = Fv Femu i (D)3 4 ¢ 48 (chromosome) !

DNA 7 agarose BT AY CDNA ¢ AHEFLZDNAAF L (AT B)ER (O FT D)t g2t

T re X L R & pFid 4 5 B(polymerase chain reaction, PCR)enE "8 B ? (A)DNA & & — 3l 3 (primer)4k & >DNA % |+

(B) 5l—+<&\!al‘—>DNA #1H—>DNA & = (C)DNA %M —351 3 4E& 5>DNA & = (D)DNA %1+ —>DNA & = —351 3 4k &
T P 8 {4 (cloning vector) gt i ¥ & AE 2 (A) S F A HAdeE (B)E FEAT (OF F E&IEHRE D) ¥ L

"3+ % 3 K 4772 (lon exchange chromatography) 4 33— B e & | * Fd H e AEF 2 (A)~ | (B)3 2R

Okt D)R I

10.

11.

12.

13.

14.

15.

16.
17.

18.

19.

20.

™ RNA % #5595 & = DNA % % &_ (A)reverse transcriptase (B)ligase (C)RNA polymerase (D)restriction enzyme

TR A A F SR B R A9 B ? (A)ion exchange chromatography (B)hydrophobic interaction

chromatography (C)isoelectric focusing (D)gel filtration chromatography

#& F14 31" 4 (expression vector) * * g A Fleh~ 2 £ (A)terminator (B)promoter (C)origin of replication (D)cloning site

TEE > Rk (Western blotting)ﬁ’ié’{%n‘l i X H 4 AT A4 R A G ) (B)E - Ak - R G F e 2

(C)F1* it (antibody)® - 2 & Fm (antlgen)m/%' 2 (D) * kA& 47 Fv ?ma B{\ﬁ‘&(ammo amd)ﬁ?» 7|

T 543 SDS-PAGE sigcif im K 45382 (A)1 A+ Ao kA dd-d F (B)SDS g @ 30 FA4 + f 7 (C)SDS § 1 v 7%
(D)1 P fh 5 & R

P o RFiF2 T 422 30 B ol v B R &M S wfe i (A)proteome (B)metabolome (C)genome

(D)transcriptome

- BRI Ak d WE 5 - B FEFF DDNA B 50 B 7 G 5-GCTAGTACGTATCGA-3 « 5 2 & 14 ¢t 3 T 1 DNA B

PR3- A DNA 2 B Rs feiRl Rp FlendF 45 o B R D DNA £ 40R 7] L @ 7 (A) 5°-AGCTATGCATGATCG-3’
(B) 5’>-TCGATACGTACTAGC-3* (C) 5’-CGATCATCATGCATAGCT-3" (D)r2* ? 2t

T Z ¥ w (vaccine) ehdkit e ¥ 45 3E 9 (A){ Wid & (antlblotlc) - i (B)E R e G Rl (OF 3 LR
BLA 2 HE R R mif 4 (D)g FEALE AR HAETEF - m#m%‘"

T 7 ¥ RT-PCR sszit 0 K 4538 2 (A)7 A7 2 3 Feni RE (B)7 A 174 T mRNA 73 £ (C)F &7 cDNA 1 &

= it* (D)FEi7F & é’;r iT* (reverse transcription)

Tr AT Y kX G TS # ? (A)Western blotting (B)SDS-PAGE (C)Mass spectrometry (D)X-ray diffraction

Which of the following method is used to determine the length of a specific mRNA? (A)Southern blotting (B)Northern blotting

(C)Western blotting (D)Real time-PCR

Which of the following molecule is not used in polymerase chain reaction (PCR)? (A)DNA polymerase (B)RNA template

(C)primer (D)nucleotide

Which of the following enzyme joins together two individual fragments of double-stranded DNA? (A) DNA polymerase

(B) ligase (C) klenow fragment (D) restriction enzyme

Which of the following enzyme does not make sticky ends? (A) Haelll 5’-GG|CC-3’ (B) EcoRI 5’-G|AATTC-3’ (C) BamHI

5’-G|GATCC-3’ (D) Pstl 5°’-CTGCA |G-3’



<HHHEEE >
I R L (RS A X 104)
1. 7 ¥li i (gene therapy)

2. & 2z 4 7 (genetically modified organism, GMO)

LB O 4 p et A4 E ) (P F o B EA R EE) DY - (10 4)

2.3 %P DNA ¥ » 5 1 fo% 0T 87 % o (10 &)

3.5 PP o AL T E e - 4 Sk ZL F](green fluorescent gene) & I3 < %5 4% £ (E. coli) - (10 4°)






	103-1
	103-2

